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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any ten of the following questions:
2x10=20

- wifS e Ted 7 ¢

i) What is Linguistics? Write any two features of

this discipline.

oI S 612 @2 REAEa @@ 7o @iy
@4

ii) Name any two Linguists.

@I g2 erRifkesidE w5 @4 |
iii) Write the full form of OIA and MIA.

OIA @3k MIA- @2 wfoq ssef i @14
[Turn Over]

iv)

\%

vi)

vii)

Give the Devanagari equivalent of the following

letters (any two):
@I vfo el @Reofd el wie:
a, r, ai, ba

Give the Roman (with diacritics) equivalent of

the following letters (any two):
F, F, A, W

Give two examples of Epenthesis.

wfifaizfe v Swizzel wie |

Furnish the Bengali equivalent of the following

terms (any two):
@~ ¥fo AReRE—icEl Thel wie:

Prothesis, Assimilation, Case, Optative

viii) Give the English equivalent of the following

ix)

terms (any two):

Q- wfb SR 2E@él el nie:

o

RS, TFAN, SIS, Al

How many fricatives are found in Sanskrit

language? Show them all.

AFS SR Foul TRl sftem T EReH
14 |
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x) Find out the two unaspirated sounds from the

following sounds:

fawfeiiie wielm ww @ 15 sHeew tizs
<5q:

T, 9, 0, &
xi) Mention any two dental sounds.
@@ Yo R Trard 4 |
xii) What is Labialization? Show one example.
GG FIE A2 GF0 TwIzae WIS |

Answer any four of the following questions :
5x4=20

@@ BTG g Tew wie ¢

i) Write a short note on the features of language.
SR @REE T @3 WY Bl @14

ii) Write a brief note with example: 2% x2=5

Ablaut (S1si=Ff®), Compensatory Lengthening
(Ffo7egEre Mdie<)

iii) Write any five morphological features of the
[-Ir. Language.

AT SR @@ AT wereifes @Yy
(=74 |
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iv) Furnish the Bengali equivalent to the following

terms: 1x5=5

Progressive Assimilation, Sonant Nasal, Labio-

Velar, Subjunctive, Inflextional Language

v)  Transcribe the following lines from Devanagari

to Roman with necessary diacritics:

a9 @M (U e Heg
(< Slﬂ?liﬂt@ %’9”@3. <49

a) TR AGSHAM HU3:

b) IR AT
c) AT gaif
d) et ST
vi) Write note on Sanskrit Vowels:

AeFe FAAeRE Tom a3 vl @14

Answer any two of the following questions :
10x2=20

@~ 7o 2eas Ted wie ¢

i)  Write a clear note on three kinds of Past Tense

of the Sanskrit Language. 10

Fegoel falky wretedle  AIE  Gwle TR
ST |
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ii) Write a comprehensive note on the New Indo-
Aryan (NIA) Language. 10

T SO SferulT Soiq b [ge Aol (74 |

iii) Transcribe the following verses from Roman

with diacritics to Devanagari : 5%x2=10
a) tam amavantam yajatam

$uram dhamasu $avistham

mitram yajai hotrabhyah ||
b) agnina rayimasnavat

posameva dive dive

ya$asam viravattamam ||

iv) What is phonology? What is morphology?
Discuss the relation between morphology and
syntax. 2+2+6=10

wiog oo F @R Fofog e F @RI?
TG € IFOCGI S T2 S F4 |
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